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Question Paper Specific Instructions

Please read each of the following instructions carefully before atlempling questions ;
There cre EFGHT critestians divided in TWIO SECTIONS and nrinted hoth n HININ and in
ENGLISH.

Candidate hies to attempt FIVE questions in all.

Questions rin, I and & are compulsory and out of the remaining, any THREE are to be aftempted
choosing at least ONE question from each section.

The number of marks carried by a guestion f part is indicated against i,

Ansiwers must be written in the medium awthorized in the Admission Certificate which musi be
steted clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the cuthorized one.

Ward limit in guestions, wherever specified, should be adhered to.

Attempts of questions skall be counted (n seguential order. Unless struck off, attempit of a quesiion
shedl be counied even if alfernpted parily. Any poage or portion of the page left blank in the
uestion-cum-Ansiper Booklet must be clearly struck off.
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TWUE A
SECTION A

Q1. Frafefias 4 ® g 9= =1 391 79T 150 a2t | Fifan .

Answer the following gquestions in about 150 words each :

(a)

(b)

(c)

(d)

(el

Q2. (a)

(b)

(ch

EGQT-P-50CY

HHTAHTEA &1 BiHH &= Sai=afmar 9 enia 8 | 39 el /= gy |
fra wr woida & # 2

The focal point of Soecioclogy rests on interaction. How do you distinguish
it from common sense 7

W 1 Ut st o gy i oanem F e w3 gew | i
I |

Distinguish between fact and value in Weber's Protestant Ethic and
Spirit of Capitalism.

w1 AT o= 4 iz & s 4 ‘and’ o O’ e we B )

Do you think ‘T and ‘Me’ are central terms in Mead's work 7

urpie 3 aEis s & = ow e o2 i ol R 3
Fzre ity |

What is the difference between natural and social inequality ? Give
examples from caste and class dimensions.

feritra awr=t o witar & wdiw e wa § 7 ==l hifa |
What are the new forms of family in developed societies ? Diseuss,

F ATTHATET FEUTAT ST 8 7 WETE T A |

Is non-positivistic methodology scientific ? llustrate.

HIAE G gEie o gt @Rl e =EmE Sifaw | T w9 Ansiey
WHEE WA I AewEen 20 F fagem gefn o e % g s e
g7

Explain Durkheim’s basic arguments on suicide. Can you analyse high
suicide rates of contemporary Indian society with Durkheim’s theory ?

i hifo 5 1 gA & o st i ywEens

Evaluate if social stratification is functional for society.
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Q3. (a)
{b)
(c)

Q4. (a)
(b)
(e)

EGT-P-S0CY

F1 FHEAG 1 2 21 3N Egas & Rt afe % e
w19 Hurdt @ 2 fag=mn fifa |

Dioes collapse of functionalism and bankruptey of Marxism coincide with
the rupture of modernity ? Discuss.

e &1 aftsrn e | sadafes d@9ut # fgoa fFe www wfiees gm0
7

Define patriarchy. How does patriarchy manifest in interpersonal
relations ?

HeA 31 gEie % == AuloaEa § # wweEm & 7 s fif

What is the difference between anomie in Merton and Durkheim ?
Explain.

AE F AN "EE A9 aedE gwera @ few gen foEfum g6 E o
vae gitEd F % e ar F gEa g 2 7

According to Marx, how are human beings alienated from their human
potential and what does he suggest to change this ?

fren e & mft wewt 6 Foigd Riem S affea o sl 2
T FUTA &+ HEd ° fEEe Fifa

Schooling does not ensure upward mobility of all members of the
society. Discuss with reference to class societies.

yfrgs Ay & fom wifts Twgrafe & gm aew AT & fadsm
hifam |

Dnscuss the chalienges thrown by religious revivalism to a secular
nation-state.
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@z B
SECTION B

Q5. TFrafafas § @ gcde g9 &1 3w @9 150 et | i ;

Answer the following questions in about 1560 words each :

(a)

(b)

(e)

(d)

(e)
Q6. (a)

(b}

()
EGT-P-SOCY

T For w8 AneRfae gy = a3 8 2 e i )
Is the theory of cultural lag valid in present times ? Iiseuss.

1 "W HgeW Sregdl d wifdia o weai J onfae w9 § 2 =wem
i |

Are social movements primordial in means and progressive in agenda ?
Explain,

w1 At fafa e w® v faew w o @ 0 gt faf ¥ e
o IO Rt HranEe T i |

Does scientific method make Sociology a science 7 [llustrate your answer
with Durkheim’s method.

T FETE H I AR & G, S AR i e S e
aw-ftal & &= faden fifag |

Distinguish between guantitative and qualitative techniques of data
collection with suitable examples from Indian society.

1 AT Testierar, Tt T @aq sfeEl & @99 § 7 e 9 |
wremE T Hifam |

Is social mobility possible in closed systems of stratification ? Illustrate
from research work.

qSftard) worw # wel & amfew g9 f wwfa F faaen wEfEm 6
st & wey # Hifaw

Discuss the nature of social organisation of work in capitalist society
with reference to the ‘Limits of the working day’.

Fgra famm il Shea & o § TiEn o gz J fad Fie |
Distinguish between family and household with reference to the concept
of development of the household.

gEifs A % S A smnenss faamEl &) e wfem
=T ey |

Explain with examples, the explanatory and exploratory designs of
social research.
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Q7. (a)
(h)
{e)
Q8. (a)
(b}

(ch

EGT-P=-50CY

arE o g gwenEl 1 faveo w0 8 o & vsft e 2 e
fora s 3w fem o s 2 7 faasm ifsw |

How ean Parsons’ AGIL framework be used to analyse key problems in a
society 7 Discuss.

gites a=agm w1 8 7 fafimiu sd % sedl & 33w F grg e B
e |

What is labour commitment ? Discuss it with reference to studies of
manufacturing industry.

2 & wgEn et F g sifiesm s § ¢ fdse if

What, according to Pareto, are the basic characteristics of elites ?
Discuss.

e e ' deEw o Sheafe w5t ot wue § 29 % e
ey % gagH § v gt @ 17 — dft.gee, faew | s it

“The sociological imagination enables us to grasp history and biography
and the relationship between the two in a society.” — C.W. Mills.
Explain.

va w0 ¥ 2 amqules semil wika sgoadfa @ESt @ s vfeer B e
|

What are sects ? Discuss their role in multi-religious =societies with
empirical examples.

gam 3 e 7% § ol Ft wera % o wwmions % w9 & s Be a2

In what way did Durkheim perceive religion as funectional to socicty ?

IAS Gurukul 9999693744 www.lasgurukul.com

20

20

10

20

20

1o



